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1. Which one of the following is not an activity of primary sector?
a) Fishing. ¢) Manufacturing.
b) Mining. d) None
2. Which one of the following does not belong to the tertiary sector?
a) Banking. c) Trade.
b) Transport. d) Fishing.
3. Tailor , Gardener , Milk Vendor are examples of :
a) Primary Sector c) Secondary Sector
b) Tertiary Sector d) None
4. Workers in the sector do not produce goods.
5. Cottonis a product and cloth is a product.
6. Baking cakes for commercial gain is an example of activity.
7. Primary Sector is also called
8. In sector , natural products are changed into other forms.

Question / Answer
Different sectors are dependent on each other. Explain
How do we calculate GDP?
Why is tertiary sector gaining importance in India?
What historical changes have been brought in different sectors?

13.  Service Sector in India employs two different kinds of people. Who are these?



